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4.1  ����	
���	��������������������������	���	 
 �����* �+��������	
��
��
����������
���������
������
�����	���� �',
���

�������	
���������
 '�����"��% ���'��&�-�����
��
 �������
 �����������)	���$%

������
�"  &.����'/�����
����������
���0� (Net Present Value : NPV) ������������

��%�
����������
 (Internal Rate of Return : IRR) ��������
�������
�����
��
 (Benefit – 
Cost Ratio : B/C Ratio) ��%������(
��
���������� (Payback Period ) 

 4.1.1 ��	
���	����������  
1) ����������� (Fixed Cost)  
�',
����#����%�$!)&��'�$!%
�'��)'��&����'�$!%
�'������1�
�
����.��#�������)&������

&$�.��#�������	�(�)&� 	�(���&$�.��#�������&��
��%��$%�)� �2%��������$%����#����%�
���

$3 ��&���
������
��
���$!�1�	����������)"��',
 2 '�����"�����)'
$3  

� ���������������	����� (Fixed Investment Cost)  �',
����#����%�1�	������
����
���3���� 4 !��',
����#����%�$!���"��������"4(3�����%
��
���� �1�	�����
��
���$!������
��
���	����  &$��%����$%""����"��
������$! 4.1 
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��	����� 4.1 '��&�-�����
��
���$!�
�������
 
��� 	����	 ����!�"���(���) 
1 ���'���'���������������
�����	���� 300,000.00 
2 ������(!��������(!
��$%������
	�������&�$!�.� 

(Echocardiography 3,950,000.00 
3 ������(!���"����&������	����"��%�����!���%��
  (Exercise 

stress test 1,450,000.00 
4 ������(!��������
� ���������"��&����1���
�����(!
)556�

	���� (Holter Monitor) 1,400,000.00 
5 �����'��-
������%
�
���
�����	����   624,550.00 
6 #�"��&�������
  2  #�" 46,890.00 
7 �����"��3�����)556��������
31� 20,000.00 
 	
# 7,791,440.00 

�$!&� : �������1�
�- 
   

���������������	$%�������� (Fixed Operation Cost)   ) �',
����#����%�$!�',

��
��
���$!��	�������"1��
�
���)"���� ���
�"(�
����%����'���1��������.�#��%�%���� ���
����"�����
����
 �����(!�&����������(!��&(� �"%��%����$%""��
$3 �"%&$��%����$%""��������$! 
4.2 
��	����� 4.2 '��&�-�����
��
���$!��	�������"1��
�
������'7�
'7�$! 1  

��� 	����	 ����!�"���(���) 
1 ���
�"(�
�%����'���1���� �1�
�
 4 �
 528,000.00 
2 ���
�"(�
�.�#��%�%���� �1�
�
 4 �
 222,720.00 
3 �������"�����
����
 240,000.00 
4 �����(!�&����������(!��&(����%
�����&�������
 747,144.00 
 	
# 2,235,144.00 

 �$!&� : �������1�
�- 
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��������%����'���1�����1�
�
 4 �
 �"(�
�� 18,000 �������
 �����������.�#��%
�%�����1�
�
 4 �
 �"(�
�� 8,000 �������
 �
'7��� ������!&� 3
�
��������%�� 5 ���'7 ���
����"�����
����
 '7��� 30,000 �������
���'7 �"%)"�������
���8'7 �����(!�&����������(!��&(�
���%
�����&�������
 ��"�',
���%��10 ����������(!��&(� - '7�$!��" 

2) �������&	�'� (Variable Cost) 
��
��
�'���
 	&�%� � ����#����%�$!���"�������	������� ������	�� ����#����%�(!
 8 �$!

�'��'�$!%
��&����'�$!%
�'����&�1�
�
����	������� 
�!
�(� %�!�&$�1�
�
�.�&��#�������&�� 
����#����%'�����
$3��%�!��.���& ����#����%���� 8 �$!��"�',
��
��
�'���
������
�����	������"�',

���%�� 15 ���%�"��%��� "����"���%����$%"�
������$! 4.3 
 
��	����� 4.3 '��&�-�����
��
�'���
 

	����	 �������&	�'������$���(	�����) 
1.���4��&�4&����1�������+����(!��&(�  
���%
 7.00 
2.�����0��-.'��� 5.00 
3.�����'��-
�1�
����
��3
�'�(�� 3.00 

	
# 15.00 
�$!&� : �����������&�.�'���������������1�
�- 
 �����0��-.'��� '�����)'"��% ������*���
 ���)556� ������'��'� )"�&�������
�����&����.�'�����������
�����	�����$!����%���������� ���
1����&.�&��1�
�-��(!�	�
����9�$!% ��"�',
����#����%���%�� 5.00 ���%�"��%��� 
 ������"��1�
����
��3
�'�(�� ����#����%���

$3�',
���"���3
�'�(���$!�����#�)'�
���"1��
�

������ �#�
 '���� "�
�� %���� ��"�%2����"�+ ���"�+ 	& �'��:
����
 ��'��-
��(!��1����&
����" �',
��
 �����������&����.�'�����������
�����	�����$!����%���������� ���
1�
���&.�&��1�
�-��(!�	�����9�$!% ��"�',
����#����%���%�� 3.00 ���%�"��%��� 
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 ���4��&�4&����1�������+����(!��&(����%
�����'��-
�$!�#��
����������	���� )"�&�
�����������&����.�'�����������
�����	�����$!����%���������� ���
1����&.�&��1�
�-
��(!�	�����9�$!% ��"�',
����#����%���%��� 7.00 ���%�"��%��� 

4.1.2 ��	
���	�����������������	���	 
  ��%)"����'7������
�����	���� =  
 
�"%                    P  �(� ����#����%�
���&��������������
 ( 2,950 �������
������3� �"%��"      

�����������&�.��$!'��������������
�����	��������%����&	���# 
&	����%���%�#$%��	&�)  

Q �(� �1�
�
�
�$!��"�����&��#����������
�����	���� �"%���&.����
���
�����	��������%����&	���# &	����%���%�#$%��	&�  

 �1�	�������1�
�-����#����%�
����#���������3����'7�$! 2 �',
��
)' �&&���	���"���������
�#����������$! ����1�
�
�.�';�%���	�����$!&��#�������&$�����������!&��"�',
���%��5 4 !�&$�����
��%)"�������
�����	����  

4.1.3  ��	&	�#�*��	��������������������$������	���	 (10 &+)  
�&(!��1�
�-'��&�-�����
��
����������
��3����'7�$! 0 � �'7�$!��3
��"������� ��%���

��(!�
)����)'
$3 ��"����������	����������$! 2,950�������
������3��"%�����',
 ���������
�%��������.�#��%�%���� 500 ��� , ����#����������
�����	���� 500 ��� ,����#�������
���(!��������(!
��$%������
	�������&�$!�.�  650 ��� , ����#����������(!���"����&������
	����"��%�����!���%��
 650 ��� , ����#����������(!��������
� ������"��&����1���
���
��(!
)556�	���� 650 ��� ��&���&��#������� 1 ���3�����
����$%��������� 2,950 ��� ��������
������!&����.��#�����������������%�� 5  �����������������!&� 3
���%�� 5 ���'7 ��)"���"����"��

������$! 4.4 
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��	����� 4.4 ��"���
��
����������
���" 10 '7 

'7�$!  

����#����%�

������
���������
�
������3� 

(P) 

�1�
�
�

�$!&��#�
������ 

(Q) 

��%)"����
���

�	����������
'7(���) 

����#����%��&
���'7(���) 

0 0.00 0.00 0.00 7,791,440 
1 2,950 1,705 5,029,750 2,989,606.50 
2 2,950 1,790* 5,280,500 3,014,904.60 
3 2,950 1,879* 5,543,050 3,052,564.14 
4 2,950 1,972* 5,817,400 3,101,993.98 
5 2,950 2,070* 6,106,500 3,163,127.98 
6 2,950 2,173* 6,410,350 3,235,532.95 
7 2,950 2,281* 6,728,950 3,318,844.81 
8 2,950 2,395* 7,06,5250 3,413,205.49 
9 2,950 2,514* 7,416,300 3,517,930.39 
10 2,950 2,639* 7,785,050 3,633,274.01 
��&   63,183,100 40,232,424.84 
�$!&� : �������1�
�- 
*�1�
�
�.��#����������!&���%�� 5 ���'7 

 
4.2 ��	
���	���������	�����-/����������� 6 ���"��!��&7���*8�����	�'$9���"����� 

������'��&�-�����
��
����������
�������������
�����	���� �&(!�
1�&��1�
����������	
��-<
�����"��
����(!��������
 )"���"��
$3 
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1) &.����'/�����
���0����������� (NPV)   
  

 NPV =  

         = 41,115,550.51 – 29,262,689.97 
              = 11,852,860.54 ��� 
 
4 !� NPV &$���&������*.
%
 "��
�3
����������
�����	����� ����&����
�������
 
(��0$�1�
�-��"��
����
��) 
 

2) ������������
��%�
������� (IRR) 
������* �+������ )&�������1�
�-�"%��0$�����"����.� 	�(��	��'����&

��&�������
'��&���� �2��)"���� IRR ������� ���%��31.27 ������
 �"%��0$�����"
����.�
�3
���',
����1�
�-	������"����$3%�$!�1��	�&.����'/�����
����������

���0�&$����',
 *.
%
 "����"��
�.�� 
 

�!
�(�  – = 0 
 
 ��
��� IRR = ���%�� 31 
��)"�  NPV = 17,215,576.48 – 17,150,249.09 = 65,327.39 
 ��
��� IRR = ���%�� 49 
��)"� NPV = 16,727,367.74 – 16,897,540.35 = -170,172.61 
 "��
�3
 IRR �$!���1��	� NPV = 0 �������%.��
#������%�� 31 – 32 
 �&(!��	� IRR = ���%��31.27232 
��)"� NPV = 17,080,221.50 – 17,080,221,.50 = 0.00 
"��
�3
 IRR �������������
�����	���� ������� ���%�� 31.27  
 IRR  = 31.27%     4 !�&���������%�� 8 (���������������"����$3%���
�.��.������%
%��%��3
�!1� (MRR) ���0
�����	��'����*)�%) "��
�3
����������
�����	����� �
���&����
�������
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3) ��������
�������
�����
��
 (Benefit – Cost Ratio : B/C Ratio) 
 

    B/C Ratio =  

                                     = 41,115,550.51/29,262,689.97 
                                     = 1.4051 
 
     B/C Ratio &$���&������ 1 "��
�3
���
�����	�����	��������
���&�������������
 
 

4)  ��%������(
��
���������� (Payback Period ) 
 

  ��%������(
��
  =  

 
 ����#����%�
�������
  ������� 7,791,440��� 
 �������
���0��9�$!%���'7 ������� 22,950,675.16/10 = 2,295,067.51 ��� 
 ��
��� 
  ��%������(
��
  = 7,791,440/2,295,067.51 
     =  3.39  '7 	�(� 3 '7 4 �"(�
21 ��
  
"��
�3
 ��%������(
��
����������������� 3 '7 4 �"(�
 21 ��
 4 !�
��%������%�

������� ���
�����	����� ����&���
������
 
��	����� 4.5 ������������	
���������
������
�����	���� - �������"�" 8% 

����������	
���������
 ������1�
�- 
&.����'/�����
����������
���0�(NPV) 11,852,860.54 ��� 
������������
��%�
����������(IRR) 31.27%      
��������
�������
�����
��
(B/C Ratio) 1.4051 
��%������(
��
����������(Payback Period) 3 '7 4 �"(�
21 ��
 
�$!&� : �������1�
�- 
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4.3 
���	�����
�#:
�����	�&������&�������	���	 (Sensitivity Analysis) 
�
�$!
$3������������	
���&)��������'�$!%
�'�������������"%�#��������"�"���$! �(� 

8% 4 !����1�����������	
�
 2 ��-$ "��
$3 
 ��-$�$! 1 �1�����������	
	���
��
�$!���!&� 3
�
������.���"�$!�������%����&���"1��
�

���������)')"� �&(!��&&���	��������
�������������$! - �������"�" 8% 
 ��-$�$! 2 �1�����������	
	��������
�$!�"���
������.���"�$!�������%����&���
"1��
�
���������)')"� �&(!��&&���	���
��
�������������$! - �������"�" 8% 
 ��-$�$! 3 �1�����������	
�����
��
����������'�$!%
�'�����!&� 3
)')"��.���"����)����
�������
�"��)"��!1���"���� ��-<
�����"��
����(!�����
 - �������"�" 8% 
 
��	����� 4.6 ������������	
���&)��������'�$!%
�'������������ - �������"�" 8% 

'/���%�$!�'�$!%
�'�� NPV B/C Ratio 
��
��
���!&� 3
�.���" ���%�� 40.505 7.97 1.00 
�������
�"���.���" ���%�� 28.828 69.64 1.00 
��
��
���!&� 3
 ���%��� 20.25  
�������
�"�����%�� 14.41 

2414.99 1.00 

�$!&� : �������1�
�- (��%����$%"".�
����
��) 
  

 ���������$! 4.6 �&(!��	��������
�������������$! - �������"�" 8 % ����	���
��

���������� (�
���
�����
��
���$!�����
��
��
�'�) ���!&� 3
 ����� ��
��
����������
��&������!&� 3
)"��.���"'��&�-���%�� 40.505 ���'7 �"%�$!��-<
�����"��
����(!��������
%����
%�&���)"� �������$!��
��
�������������!&� 3
���%�� 40.505 ���'7 ����� �������&$&.����
'/�����
����������
���0� (NPV) ������� 7.97 ��� ��������
�������
�����
��
 (B/C 
Ratio) ������� 1.00 ����&(!��	���
��
�������������$! - �������"�" 8 % �-��"$%���
�	�
�������
�����������"�� ����� �������
������������&����"��)"��.���"'��&�-
���%�� 28.828 ���'7 �"%�$!��-<
�����"��
����(!��������
%����%�&���)"� �������$!�������
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�����������"�����%�� 28.828 ���'7 ����� �������&$&.����'/�����
����������
���0� 
(NPV) ������� 7.97 ��� ��������
�������
�����
��
 (B/C Ratio) ������� 1.00 ��&�1�"�� 

�&(!��	��������
�����������"�� ����	���
��
�������������!&� 3
 - �������"�" 
8% ����� ��
��
������������&������!&� 3
)"��.���"'��&�-���%�� 20.25 ���'7���
�������
������������&����"��)"��.���"'��&�-���%��14.41 �"%�$!��-<
�����"��
��
��(!��������
%����%�&���)"� �������$!�������&$&.����'/�����
����������
���0� (NPV) 
������� 2,414.99 ��� ��������
�������
�����
��
 (B/C Ratio) ������� 1.00  
 "��
�3
 �������������	
���&)��������'�$!%
�'������������ - �������"�" 8% 
����� �&������
��
���������������!&� 3
�.���"� ����%�� 40.505 ���'7�"%�	��������
���$! 
����������
�����������"���!1���"� ����%��28.828 ���'7�"%�$!��
��
���$! ����������
��
���	����%�����&�������������
 �#�
�"$%���� �
��-$��
��
���������������!&� 3
�.���"� ����%�� 
20.25 ���'7 ����������
�����������"���!1���"� ����%��14.41 ���'7 ����������
��
���	����%�����&�������������
�
(!�����&.����'/�����
����������
���0� &$���&������*.
%
 ��� 
������������
�����
��
 �������1 ��0$����1�
�-��"��
����
�� 
 

 


